

We want to maximise  $A(x, y) = xy$

Under constraint  $g(x, y) = x + y - 8 = 0$

= constant  
 $dg = \frac{\partial g}{\partial x} dx + \frac{\partial g}{\partial y} dy = 0$

$$dA = \frac{\partial A}{\partial x} dx + \frac{\partial A}{\partial y} dy = 0$$

$$y dx + x dy = 0$$

$$\begin{aligned} dx + dy &= 0 \\ dx + dy &= 0 \\ dy &= -dx \end{aligned}$$

$$\frac{\partial A}{\partial x} + \alpha \frac{\partial g}{\partial x} = 0$$

$$\frac{\partial A}{\partial y} + \alpha \frac{\partial g}{\partial y} = 0$$

$$y + \alpha = 0$$

$$x + \alpha = 0$$

$$y = -\alpha$$

$$x = -\alpha$$

$$y dx - x dx = 0$$

$$(y - x) dx = 0$$

$$y - x = 0$$

$$y = x$$

$$2x = 8 \rightarrow x = 4$$

$$A(xy) = xy = 4 \cdot 4 = 16$$

$$-\alpha - \alpha - 8 = 0$$

$$\alpha = -4$$

$$x = y = 4$$

$$A = xy = 4 \cdot 4 = 16$$

b)

$$g(x, y) = \frac{x^2}{a^2} + \frac{y^2}{b^2} - 1 = 0$$

$$A(x, y) = xy$$

$$\frac{\partial f}{\partial x} + \alpha \frac{\partial g}{\partial x} = 0$$

$$\frac{\partial f}{\partial y} + \alpha \frac{\partial g}{\partial y} = 0$$

$$y + 2\alpha a^2 x = 0$$

$$x + 2\alpha b^2 y = 0$$

$$y = -2\alpha a^2 x \quad \leftarrow \quad x = -2\alpha b^2 y$$

$$1 = 4\alpha a^2 b^2$$

$$\alpha = \frac{1}{4a^2 b^2}$$

$$y + \frac{2a^2 x}{4a^2 b^2} = 0$$

$$y = -\frac{x}{2b^2}$$

$$\frac{x^2}{a^2} + \frac{\left(-\frac{x}{2b^2}\right)^2}{b^2} - 1 = 0$$

$$\frac{x^2}{a^2} + \frac{x^2}{4b^6} = 1$$

$$x^2 \left( \frac{1}{a^2} + \frac{1}{4b^6} \right) = 1$$

$$x^2 = \frac{1}{\frac{1}{a^2} + \frac{1}{4b^6}} = \frac{1}{\frac{4b^6 + a^2}{4a^2 b^6}} = \frac{4a^2 b^6}{4b^6 + a^2}$$

$$x = \pm 2ab^3 \times \frac{1}{\sqrt{4b^6 + a^2}}$$

$$y = -\frac{x}{2b^2}$$

take + variant  
 $A = xy =$